
σe g0 Ht
2

α θ σ

2500 5000 7500 2500 5000 7500 2500 5000 7500

2500 5000 7500 2500 5000 7500 2500 5000 7500

0.0

0.5

1.0

0.00

0.25

0.50

0.75

2

3

4

5

6

0

2

4

6

8

0.0

0.5

1.0

1.5

it

va
lu

e

chain

1

2

3



●●●●●●●●●●●●●●●●●●●●●●●●●●●

●●●●●●●●●●●●●●●●●●●●●●●●●●●

●●●●●●●●●●●●●●●●●●●●●●●●●●●

●●●●●●●●●●●●●●●●●●●●●●●●●●●

●●●●●●●●●●●●●●●●●●●●●●●●●●●

●●●●●●●●●●●●●●●●●●●●●●●●●●●

σe g0 Ht
2

α θ σ

0.0 0.5 1.0 1.5 4.00 4.25 4.50 4.75 0.00 0.25 0.50 0.75

0 2 4 6 8 2 3 4 5 6 0.0 0.5 1.0

0.0

2.5

5.0

7.5

10.0

0

100

200

0

1

2

3

−0.50

−0.25

0.00

0.25

0.50

0.0

0.1

0.2

0.3

0

5

10

15

20

25

value

de
ns

ity

chain

1

2

3



NA

Correlation: 
1: 0.189
2: 0.715
3: 0.247

NA

Correlation: 
1: −0.28
2: 0.169
3: 0.534

Correlation: 
1: −0.201
2: 0.346
3: 0.283

NA

Correlation: 
1: −0.0326
2: −0.276
3: −0.329

Correlation: 
1: 0.612
2: −0.602
3: −0.27

Correlation: 
1: 0.149
2: 0.139
3: −0.866

NA
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NA

Correlation: 
1: −0.406
2: −0.119
3: 0.3

Correlation: 
1: −0.602
2: 0.164
3: 0.117

Correlation: 
1: 0.607
2: 0.941
3: 0.949

Correlation: 
1: −0.428
2: 0.153
3: −0.83
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